8 %[ H15-S20-PC_H25-25
BEa% | KAPH00235% 2
- . < — . < — . - . EE : =
| G-GWER (S=1:3) | [ FH38E (S=1:10) | [ BEEmEE (S=1:5)] [A—MfEE (S=1:15) | AR L X =
# 8% 8 : 600N/m
EW B 50KN/m’
CRhang : 18N/mm?
1000 1000 1000 1000 1000 . & :
<ray e L, 2000 TERORERRLEL TUBE CRRRINE
BB Run-K2-D 13 s | 70 Bl 25| 50 850 50,125 KTy v ft TREMAL L LR 70 B 1663 337
iR KTy et THA A R 70 s BUBH r2E% 1R 70 2 BpH
THEf Ay | VT s 74 18A BRI (£ 7-%2- 1) t3
TRBfM N b M8x 65 EXTy Ve ft FIAER (3] A~
M10x22 \ $4x16 L — b e
) EKTy v ft B > = — \
oo — L . (T o)
LAY E ] i L |~
AR 70 BERE = ( L / - & 1
EXPRT PEpavT AN . 2 ' /
TREMSE 70 IRERIR 55 55 THIA R SN 7 BB ~ % g /C
T4 I RE T4 R I
T 703 BiHH AASHTE
145 e imE \ \ \ it LR 70 FURH |
IR Ya/y +2AF HREAAN b\ BAKL b FR0100x 100xt3.2 ThI4 PR N
T B MI0x22  M12x35  G%»-&+BEARER
Tl & +HEAKRS $20100x 100x13.2
B> &+ HENRER |
A/ = . |
[FAEGS=1:30| v gumimm _
£20100x100xt3.2 | CHEMEHMBE (S=1:5) |
IR0 &+ REREEE Hi 70 IBemr S
(_,:___ﬁ \ THIA b | = g
A 4 A 4
Bt om— 3 3 + — $ = 7 BE27v-+ PL-t9 %#0150x 75%13.2
I | I N __ ) 208 71 BB 5o & + BRORER
( ( ( [ ( { ( l VARERS ] !
’ TR LR 7V IBURH o |
i ! i ! ! ! I I 7V AR S =
‘ R 7 v 3 Wit ] |
I I I l ( { I 0 0 ITETAY ) t
I , 3B-KR U3/ 128R
' - = = ' B 2+ nRUES W) gf
+ -
/ dl Bt A b oS GL I
1080 1000 1000 1000 1000 1000 1000 1000 1000 1080 M16% 160 T -
(n-Fkoy sty b) | FeLO+Je 59 8
A%y b 70 IFBBHR AASHE BETH =) 4 }i
THIL MR L JNS b= T
| Sl o ()
| €8 042 | ~ |
$ ARSHIE - !
LE7YH-#n b \NEREEL 5V (BBFE)
D16x 320 <-ATU- NTRRR
(5TW+y bED)
[E@®(5=1:30)]| [l @R (S=1:30) | - _
| DR (S=1:3) | | Ef#8E (S=1:10) |
Bt (RYh-#2-1) t3
10160 2000 i 70 s BB T ik 70 S RBRBIE CLC
1080 4000 4000 1080 1663 337 ThI4 R THIA
BRI (RyH-%2- 113 2ok 7)1 I BEBR
_|80 215 215 80| e 7h4 AR
—~. A ‘—|T '
1 uin i i s 1 1 uin I E -—= /- R34y b 7H RN
y - ) 3
A =~ - = R VAEERS &)
FRBA AW b
! / [ Ll ! IR-KR Ya4Yv IEAF M10X 22
i . PLt3.2
| 7732 TR & + WERKES
t 94x13 T 7w BB
! f ! 7K A FR0100x 100xt3.2
4 T, & F RROKER
I \xizo 150% 75x 3.2 =] =
i | @50 &+ HRAARE & | & _ _
| A-2TL- FEBE (S=1:10)] | 7Y h-#80 (S=1:5)]
[
! 4-922 - M16 2549
assol | i 1omm N
' 1 % $ 2
- =
| =1 N [=1E=} I
S Na=REEE
a4 N 2 % o
| 2 V4 2 e D16 CERE® g
I A gl @ 3
< ‘/ 3 R —— ‘/ 30 240 30
T Ir = 118004 1004804 300
400 | 400 =4 800 400 J
100 800 100 100 1200 100
1000 1400 64




